BUS 2030 Quiz — Open-Up - Master

Student Name

Q1. What does the number 3,500 represent?
Total number of employees

Q2. What does the number 6,400 represent?
Total number of requests in open up first year

Q3. In Table #3, what does 220 represent?
Number of respondents who have not used open up

Q4. In Table #4 what does 1,603 represent?
#respondents either partially or completely satisfied

Q5. How many user respondents believe their question was handled confidentially?
923
Q6. What percentage of employees responded to the survey?
55%
Q7. What percentage of respondents are managerial employees?
30.2%
Q8. What percentage of respondents are over the age of 40?
40.8%
Q9. How many male employees work for Bank of Columbus?
Don’t know
Q1lo. What is the percentage of non user respondents of total respondents?
11.4%
E.C. Calculate the average number of monthly Open-Up requests. If all user respondents under 25

sent in one request, what percent of the average monthly request number were submitted
by this group (the under 25 user)
80.0% 421-84=337 337/421 = 80.0%



